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Live Leak – RBI Assistant Prelims 

Model Question Paper (Predicted 

Pattern 2017) 

English Language Q1-10. Directions: Read the passage given below and then answer the 

questions given below the passage. Some words may be highlighted for 

your attention. Pay careful attention. 

The Banking institutions in India can be broadly grouped under two categories viz., 

(i) scheduled, and (ii) non-scheduled. Since 1951 there has been a significant decline

in the number of these institutions. From a total of 566 banks (of both categories) in 

1951, the number had come down to only 109 in 1965. The reduction in the number 

of non-scheduled banks has been phenomenal -- from 473 to mere 33; and the 

scheduled banks from 92 in 1951 to 76 in 1965. As is only natural, with reduction in 

numbers on the one side and growth in banking deposits on the other, it has led to 

larger concentration within the banking sector. 

Out of the total bank deposits of Rs. 3183.20 crores in 1965, the non-scheduled 

banks, which numbered 33, held deposits worth Rs. 24.15 crores only. Similarly, the 

significance of non-scheduled banking has been very little in terms of advances and 

other operations. Past experience provides support to the idea that small financial 

institutions have little place in a developing society. These do not 

enjoy confidence of the public in general; nor do these institutions have the 

resources to organize such facilities which can be easily provided by the large sized 

national financial institutions. Therefore, for the purpose of our discussion, the non 

scheduled banks have very little significance. The scheduled banks are 76 and these 

can be grouped under (i) the Public Sector; and (ii) the Private Sector. The former 

comprises of the State Bank of India and seven of its subsidiaries. Out of the 

remaining 68 scheduled banks 15 banks are of foreign origin. This leaves the private 

sector Indian banks as 53 only. 

The total number of scheduled Bank offices at the end of 1965, were 6,133 only. 
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It would be seen that out of the 92 offices of the foreign banks, 75 offices were located 

in four States of the country i.e. Maharashtra, 23; West Bengal, 25; Delhi, 17; and 

Madras 10. Punjab and Kerala had 4 offices each. States like Bihar, Madhya Pradesh 

and Orissa did not have even a single branch of foreign banks. It is, therefore, 

obvious that the foreign banks have generally confined themselves to centres of 

international trade. Also it is by no coincidence that the majority of the foreign bank 

offices have been at the seaports of the country, except Delhi, for obvious reasons. 

In the case of Indian scheduled commercial banks it can be seen that bank offices are 

concentrated in a few States only. For instance, large number of the offices are 

located in five States viz., Maharashtra, Madras, Gujarat, Mysore and West Bengal. 

The five States' combined total of bank offices was 3065 out of the total of 5,812. 

States like Jammu and Kashmir, Bihar, Orissa and Madhya Pradesh had a 

significantly smaller share in the national total. However, two States, namely Kerala 

and Mysore, are exceptions. Otherwise, the bank offices have been mainly located in 

the comparatively well-off States of the country. The banking activity has been 

mainly confined to urban centers. For instance, nearly two-thirds of the bank offices 

are located in centers having population of more than 1 lakh. On the other hand only 

15 per cent of bank offices were located in towns with population of 10,000 and 

lesser. 

Q1. What is the general tone of the paragraph? 

1. Euphemistic

2. Glowing narrative.

3. Data oriented observations.

4. Accusatory

5. General commentary.

Q2. Which of the following sentences correctly summarizes the key findings in the 

paragraph? 
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1. There has been a marked increase in banking institutions since independence in

India and most bank offices are located in strategically important locations creating 

pockets of financial transactions. This is creating discrepancy in overall financial 

transactions in the country. 

2. There has been a marked decrease in banking institutions since Independence in

India and most bank offices are located in strategically important locations creating 

pockets of financial transactions. This is creating discrepancy in overall financial 

transactions in the country. 

3. There has been a marked increase in banking institutions since independence in

India and bank offices are equally dispersed in the country promoting equity among 

the customers. 

4. The banking activity is mainly in rural centres.

5. The banking activity is mainly in urban centres.

Q3. What is the percentage of bank offices located in towns with population of 

10,000 and lesser? 

1. 11%

2. 12%

3. 13%

4. 14%

5. 15%

Q4. Choose the correct opposite of the word ‘comparatively ‘as highlighted in the 

paragraph in context to the whole from the given options? 

1. Fairly

2. Rather

https://testbook.com/offers
https://play.google.com/store/apps/details?id=com.testbook.tbapp&referrer=utm_source%3DWebsite%26utm_medium%3DDirect%26utm_content%3DHeader


4 | P a g e

3. Absolutely

4. Moderately

5. Somewhat

Q5. How many offices of Foreign Banks are present in India? Which states have the 

least number of these offices? 

1. 92 offices of Foreign Banks ; Punjab and Kerala have 4 offices each.

2. 93 offices of Foreign Banks ; Maharashtra and Punjab have 4 offices each.

3. 92 offices of Foreign Banks ; Punjab and Kerala have 2 offices each.

4. 90 offices of Foreign Banks ; Punjab and West Bengal have 4 offices each.

5. 93 offices of Foreign Banks ; Delhi and Madras have 4 offices each.

Q6. How many banks are there in the Indian private banking sector and how many 

of these banks are foreign banks? 

1. 64 scheduled banks in private sector with 11 of them being foreign banks.

2. 65 scheduled banks in private sector with 12 of them being foreign banks.

3. 66 scheduled banks in private sector with 13 of them being foreign banks.

4. 67 scheduled banks in private sector with 14 of them being foreign banks.

5. 68 scheduled banks in private sector with 15 of them being foreign banks.

Q7. What is the total number of scheduled banks and how are they grouped? 

1. 75, Public sector and Private sector banks

2. 76, Public sector and Private sector banks

3. 76, Public sector and Foreign banks

4. 77, Public sector and Private sector banks
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5. 78, Private sector and Foreign banks

Q8. Choose the correct meaning of the word ‘confidence ‘as highlighted in the 

paragraph in context to the whole from the given options. 

1. Nerve

2. Poise

3. Aplomb

4. Reliance

5. Self reliance

Q9. From what number to what number have the non scheduled banks come down? 

1. From 475 to 31

2. From 474 to 32

3. From 473 to 33

4. From 472 to 34

5. From 471 to 35

Q10. How are the banking institutions in India broadly categorized ? 

1. Scheduled and Non Scheduled

2. Private and Non Scheduled

3. Public and Non Scheduled

4. Private and Public

5. Private and Scheduled
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Q11-20. Directions: In the following passage, there are blanks, each of 

which has been numbered. Against each five words are suggested one of 

which fits the blank appropriately. Find out the appropriate word in each 

case. 

The State Banks Staff Union (Kerala Circle) has __ (A) __ the Union government 

and the __ (B) __ of the State Bank of India (SBI) to withdraw the efforts to merge 

its five associate banks, including the State Bank of Travancore (SBT), with __ (C) 

__. The __ (D) __ raised concerns that the move would lead to the __ (E) __ of 

several branches in the State. In a __ (F) __, Union General Secretary A. Jayakumar 

said the __ (G) __ concerned had already clarified that 30 per cent of the branches 

would be shut down after the __ (H) __.  At present, while the SBI has 480 branches 

in the State, the SBT __ (I) __ as many as 851 branches. In addition, the other 

associate banks have nearly 35 branches in Kerala. The merger would result in the 

closure of__ (J) __ 400 branches. 

Q11. Which of the following words most appropriately fits the blank labelled (A)? 

1. Dissuaded

2. Urged

3. Disinclined

4. Goaded

5. Cheated

Q12. Which of the following words most appropriately fits the blank labelled (B)? 

1. Management

2. Disciplinary committee
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3. Consultancy

4. Staff

5. Office

Q13. Which of the following words most appropriately fits the blank labelled (C)? 

1. Self

2. Their selves

3. It

4. Oneself

5. Itself

Q14. Which of the following words most appropriately fits the blank labelled (D)? 

1. Insurrection

2. Mutiny

3. Assembly

4. Organization

5. Either of 3 and 4

Q15. Which of the following words most appropriately fits the blank labelled (E)? 

1. Commencement

2. Inception

3. Closure

4. Debacle

5. Collaboration
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Q16. Which of the following words most appropriately fits the blank labelled (F)? 

1. Identify

2. Quote

3. Statement

4. Announce

5. Utterance

Q17. Which of the following words most appropriately fits the blank labelled (G)? 

1. Amateur

2. Officials

3. Primeval

4. Authorities

5. Either 2 or 4

Q18. Which of the following words most appropriately fits the blank labelled (H)? 

1. Coalition

2. Severance

3. Amalgamation

4. Merger

5. Either 3 or 4

Q19. Which of the following words most appropriately fits the blank labelled (I)? 

1. Ran

2. Controlled

https://play.google.com/store/apps/details?id=com.testbook.tbapp&referrer=utm_source%3DWebsite%26utm_medium%3DDirect%26utm_content%3DHeader


9 | P a g e

3. Piloted

4. Operated

5. All of them

Q20. Which of the following words most appropriately fits the blank labelled (J)? 

1. Informally

2. Almost

3. Most

4. Several

5. None of the above

Q21. Read the sentence to find out if there is any error in it. The error, if 

any, will be in one part of the sentence. The number of that part will be in 

the answer. If there is no error, then the answer is (5). Ignore errors of 

punctuations, if any. 

The sight of the sun setting (1)/ last evening, will give (2)/ the artist some inspiration 

(3) to recreate it in his notebook later that night. (4)/ No Error (5)

1. 1

2. 2

3. 3

4. 4

5. 5

Q22. Read the sentence to find out if there is any error in it. The error, if 

any, will be in one part of the sentence. The number of that part will be in 
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the answer. If there is no error, then the answer is (5). Ignore errors of 

punctuations, if any. 

How sweetly (1)/ the baby sleeps (2)/ in the mother’s lap (3)/ unconcerning about 

everything else! (4)/ No Error (5) 

1. 1

2. 2

3. 3

4. 4

5. 5

Q23. Read the sentence to find out if there is any error in it. The error, if 

any, will be in one part of the sentence. The number of that part will be in 

the answer. If there is no error, then the answer is (5). Ignore errors of 

punctuations, if any. 

This is the (1)/ only man in the whole campus (2)/ who you can trust (3)/ completely. 

(4)/ No Error (5) 

1. 1

2. 2

3. 3

4. 4

5. 5

Q24. Read the sentence to find out if there is any error in it. The error, if 

any, will be in one part of the sentence. The number of that part will be in 

the answer. If there is no error, then the answer is (5). Ignore errors of 

punctuations, if any. 
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The platform (1)/ where has more than a million users (2)/ is looking to enter (3)/ 

the tax savings category. (4)/ No error (5) 

1. 1

2. 2

3. 3

4. 4

5. 5

Q25. Read the sentence to find out if there is any error in it. The error, if 

any, will be in one part of the sentence. The number of that part will be in 

the answer. If there is no error, then the answer is (5). Ignore errors of 

punctuations, if any. 

At a scaled down version of (1)/ a reusable launch vehicle, (2)/ ISRO, successfully 

tested (3)/ the country’s first winged spacecraft. (4)/ No Error (5) 

1. 1

2. 2

3. 3

4. 4

5. 5

Q26. Read the sentence to find out if there is any error in it. The error, if 

any, will be in one part of the sentence. The number of that part will be in 

the answer. If there is no error, then the answer is (5). Ignore errors of 

punctuations, if any. 

Brexit may be a success (1)/ or Britain does not (2)/ fully understand (3)/ its 

ramifications (4)/.No error (5) 

1. 1
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2. 2

3. 3

4. 4

5. 5

Q27. Read the sentence to find out if there is any error in it. The error, if 

any, will be in one part of the sentence. The number of that part will be in 

the answer. If there is no error, then the answer is (5). Ignore errors of 

punctuations, if any. 

In medieval Europe (1)/ it was belief (2)/ that the sun (3)/ revolves around the earth. 

(4)/ No error (5) 

1. 1

2. 2

3. 3

4. 4

5. 5

Q28. Read the sentence to find out if there is any error in it. The error, if 

any, will be in one part of the sentence. The number of that part will be in 

the answer. If there is no error, then the answer is (5). Ignore errors of 

punctuations, if any. 

Prisons in Norway (1)/ will be shutting down (2)/ as there won’t be any (3)/ criminal 

activities in recent years.(4)/ No error (5) 

1. 1

2. 2

3. 3

4. 4
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5. 5

Q29. Read the sentence to find out if there is any error in it. The error, if 

any, will be in one part of the sentence. The number of that part will be in 

the answer. If there is no error, then the answer is (5). Ignore errors of 

punctuations, if any. 

Though (1)/ the class was boring, (2)/ but we managed (3)/ to sit through. (4)/ No 

Error (5) 

1. 1

2. 2

3. 3

4. 4

5. 5

Q30. Read the sentence to find out if there is any error in it. The error, if 

any, will be in one part of the sentence. The number of that part will be in 

the answer. If there is no error, then the answer is (5). Ignore errors of 

punctuations, if any. 

The man (1)/ looked at the little girl (2)/ and asked (3)/ “What’s the time on your 

watch?” (4)/ No Error (5) 

1. 1

2. 2

3. 3

4. 4

5. 5

Numerical Ability 
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Q31. In the following question, one or two equation(s) is/are given. You 

have to solve both the equations and find the relation between ‘x’ and ‘y’ 

and mark correct answer. 

I. √1225𝑥 + √4900 = 0

II. (81)1/4y + (343)1/3 = 0

1. x > y

2. x ≥ y

3. x < y

4. x ≤ y

5. x = y or the relation cannot be determined

Q32. In the following question, one or two equation(s) is/are given. You 

have to solve both the equations and find the relation between ‘l’ and ‘m’ 

and mark correct answer. 

I. (729)1/3 l ÷ 423 = 1

II. 6 × (3375)1/3m – (3240000)1/2 = 36

1. I > m

2. l ≥ m

3. l < m

4. l ≤ m

5. l = m or the relation cannot be determined

Q33. In the following question, one or two equation(s) is/are given. You 

have to solve both the equations and find the relation between ‘p’ and ‘q’ 

and mark correct answer. 

I. p2 + p – 20 = 0

II. q2 – q – 30 = 0
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1. p > q

2. p ≥ q

3. p < q

4. p ≤ q

5. p = q or the relation cannot be determined

Q34. In the following question, one or two equation(s) is/are given. You 

have to solve both the equations and find the relation between ‘a’ and ‘b’ 

and mark correct answer. 

I. a√25 + 2b = √961

II. 3a + (2401)1/4b = 36

1. a > b

2. a ≥ b

3. a < b

4. a ≤ b

5. a = b or the relation cannot be determined

Q35. In the following question, one or two equation(s) is/are given. You 

have to solve both the equations and find the relation between ‘l’ and ‘m’ 

and mark correct answer. 

I. (l1/4 ÷ 16)2 = 144 ÷ l3/2

II. m1/3 × m2/3 × 3104 = 16 × m2

1. l > m

2. l ≥ m

3. I < m

4. l ≤ m
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5. l = m or the relation cannot be determined

Q36. The length of a rectangular plot is thrice its breadth. If the area of 

the rectangular plot is 7803 sq. metre, what is the breadth of the 

rectangular plot? 

1. 51 metres

2. 153 metres

3. 104 metres

4. 88 metres

5. None of these

Q37. A cistern is filled by a tap in 15 hours. Due to a leak in the bottom of 

the cistern, it takes 5 hours longer to fill the cistern. If the cistern is full 

how long will it take the leak to empty it?(assume rate of leakage will be 

constant). 

1. 70 hours

2. 60 hours

3. 30 hours

4. 40 hours

5. 50 hours

Q38. If we take four numbers, the average of the first three is 17 and that 

of the last three is 14. If the last number is 19, the first number is 

1. 27

2. 28

3. 26

4. 28.5

5. None of the above

https://play.google.com/store/apps/details?id=com.testbook.tbapp&referrer=utm_source%3DWebsite%26utm_medium%3DDirect%26utm_content%3DHeader


17 | P a g e

Q39. Three years ago, the average age of a family of 4 members was 14 

years. A girl having been born, the average of the family is the same 

today. What is the age of the girl? 

1. 1 year

2. 2 years

3. 6 months

4. 9 months

5. 2 years and 5 months

Q40. 4 examiners can examine a certain number of answer papers by 

working for 5 hours a day in 10 days. For how many hours a day would 2 

examiners have to work in order to examine twice the number of answer 

papers in 20 days? 

1. 8 hours

2. 7
1

2
 hours 

3. 10 hours

4. 8
1

2
 hours 

5. None of these

Q41. In the following number series only one number is wrong. Find out 

of the wrong number 

8  11    17   47    128    371    1100 

1. 11

2. 47

3. 17

4. 371
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5. 128

Q42. In the following question, one number is wrong in the series. Find 

out the wrong number. 

1, 2, 5, 14, 41, 124 

1. 2

2. 124

3. 14

4. 41

5. 1

Q43. In the following questions, one term is wrong. Find that term. 

325, 259, 202, 160, 127, 105, 94 

1. 202

2. 259

3. 124

4. 94

5. 105

Q44. Find the missing term at the place of question mark (?) in the 

following number series? 

16           24  48    120    ?    1260 

1. 378

2. 472

3. 535

4. 360

5. 441
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Q45. Find the missing number in the following series. 

4, 7, 11, 18, 29, 47, …., 123, 199 

1. 76

2. 70

3. 84

4. 102

5. None of these

Q46. Find the length of the canvas 3 metres in width required to make a 

conical tent 12 metres in diameter and 4.9 m in slant height. 

1. 118.8 m

2. 22.4 m

3. 48.4 m

4. 112.4 m

5. 30.8 m

Q47-51. Directions: Study the following graph carefully to answer the questions 

that follow: 

Number the females and males working in five different organizations 
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Q47. What is the ratio of the number of females to the number of males 

from Organizations D? 

1. 11:15

2. 15:11

3. 13:11

4. 11:13

5. None of these

Q48. The number of females in the Organisations E forms what per cent 

of the total number of employees form that organization? (rounded off to 

two digits after decimal) 

1. 52.38

2. 54.74

3. 56.34

4. 58.67

5. None of these
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Q49. What is the total number of employees working in organisations A 

and C together? 

1. 8950

2. 9820

3. 8250

4. 9500

5. None of these

Q50. The number of females from Organization B 

forms approximately what per cent of the total number of employees from 

that organization? 

1. 58

2. 60

3. 53

4. 63

5. 55

Q51. What is the total number of males from all the organizations 

together? 

1. 13000

2. 12000

3. 12500

4. 11500

5. None of these

Q52. A, B and C invest a total sum of Rs. 5000 in a business. A invests Rs. 

700 more than B, whereas B invests Rs. 800 more than C. How much is 

the share of B out of a profit of Rs. 1500? 
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1. Rs. 560

2. Rs. 500

3. Rs. 520

4. Rs. 510

5. Rs. 530

 Q53. Gold is 19 times as heavy as water and copper is 9 times heavy. In 

what ratio must these metals be mixed so that the mixture may be 15 

times as heavy as water? 

1. 2 : 3

2. 3 : 2

3. 1 : 3

4. 2 : 1

5. None of these

Q54. What will come in place of question mark (?) in the following 

questions? 

3

4
 𝑜𝑓 56% 𝑜𝑓 550 = ? 

1. 331

2. 200

3. 166

4. 264

5. None of these

Q55. What should come in place of question mark (?) in the following 

question? 

30492 ÷ √? = 77 × 12 
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1. 33

2. 1225

3. 1089

4. 35

5. None of these

Q56. What value should come in the place of question mark (?) in the 

following question? 

73% of 650 – 111% of 240 =? 

1. 468.3

2. 420.8

3. 408.4

4. 460.4

5. None of these

Q57. What should come in place of the question mark (?) in the following 

question? 

(23)3 × 33 – (52 – 22)2 =?

1. 18833

2. 18333

3. 13383

4. 13833

5. None of these

Q58. In how many years Rs 4400 amounts to Rs 5984 at 4 percent per 

annum simple interest? 

1. 6 years
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2. 9 years

3. 12 years

4. 14 years

5. None of these

Q59. A man sells two watches for Rs. 199 each. On one he gained 10 p.c. 

and on the other he lost 10 p.c. Find his gain or loss p.c. 

1. no loss, no gain

2. 10% loss

3. 1% loss

4. 1% gain

5. 2 % loss

 Q60. A man borrowed Rs. 800 at 10% p.a. simple interest and 

immediately lent the whole sum at 10% p.a. compound interest. What 

does he gain at the end of 2 years? 

1. Rs. 6

2. Rs. 8

3. Rs. 10

4. Rs. 12

5. None of these

Q61. What should come in place of the question mark (?) in the following 

question? 

(40% of 1,965 × 74) ÷ ? = 4,847 ÷ 22 

1. 42

2. 36
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3. 56

4. 54

5. None of these

Q62. A train of length 150 meters passes a pole in 15 seconds and another 

train of the same length travelling in opposite direction in 12 seconds. 

The speed of the second train would be: 

1. 20 km/h

2. 40 km/h

3. 54 km/h

4. 60 km/h

5. None of these

Q63. The sum of three numbers is 98. If the ratio of the first to the 

second is 2 : 3 and that of the second to the third is 5 : 8, then the second 

number is: 

1. 20

2. 30

3. 38

4. 48

5. None of these

Q64. There are 20 poles with a constant distance between each pole. A 

car takes 24 seconds to reach the 12th pole. How much time will it take to 

reach the last pole? 

1. 25.25 s

2. 17.45 s

3. 35.75 s
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4. 41.45 s

5. None of these

Q65. How many ways are there to rearrange the letters of the word 

“ELATION”, if the first and last letter must each be a vowel? 

1. 120

2. 144

3. 240

4. 720

5. 1440

(Q66-70) Directions: These questions are based on the following set of 

numbers. 

258      427      753      684      892 

Q66. If in each number first digit is replaced by the third digit, second 

digit is replaced by the first digit and third digit is replaced by the second 

digit, then which number will be the smallest? 

1. 258

2. 427

3. 753

4. 684

5. 892

Q67. If all the numbers are arranged in descending order what will be the 

difference between the third digit of second number and second digit of 

third number? 

1. 2

2. 4

3. 5
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4. 6

5. None of these

Q68. If the first and the second digits in each number are interchanged 

then which number will be the smallest? 

1. 258

2. 427

3. 753

4. 684

5. 892

Q69. If in each number the first and the third digits are interchanged 

then which number will be the largest? 

1. 258

2. 427

3. 753

4. 684

5. 892

Q70. If ‘1’ is subtracted from the middle digit of each number and then 

the numbers are arranged in descending order, what will be the sum of 

the digits of the newly formed second number from left? 

1. 15

2. 18

3. 11

4. 14

5. None of these

(Q71-75) Directions: In each question below is given a group of letters 

followed by four combinations of digits/symbols numbered 1), 2), 3) and 

4). You have to find out which of the combinations correctly represents 
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the group of letters based on the coding system and the conditions given 

below and mark the number of that combination as your answer. If none 

of the combinations correctly represents the group of letters, mark 5) i.e. 

‘None of these’ as your answer. 

Letters P M A E J K D R Q H I U T F 

Digits/Symbols Conditions 4 $ 1 2 3 # 5 @ © 6 % δ 7 9 

i) If the first letter is a consonant and the last letter is a vowel, the codes of both these

are to be interchanged. 

ii) If both the first and the last letters are consonants both these are to be coded as

per the code of the last letter. 

iii) If the first letter is vowel and the last letter is a consonant both these are to be

coded as ‘⋆’ 

Note: All the remaining letters are to be coded as per their original codes. 

Q71. ERQHKA 

1. 2 @ © 6 # 1

2.1 @ © 6 # 2 

3. 1 @ © 6 # 1

4. 2 @ © 6 # 2

5. None of these

Q72. MPEKDU 

1. $ 4 2 # 5 δ

2. $ 4 2 # 5 $

3. δ 4 2 # 5 δ

4. δ 4 2 5 # $

5. None of these

Q73. TMEIUF 

1. 7 $ 2 % δ 9
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2. 7 $ 2 % δ 7

3. 9 $ 2 % δ 7

4. 9 $ 2 % δ 9

5. None of these

Q74. JTAERI 

1. 7 1 2 @ 3

2. 3 7 1 2 @ 3

3. ⋆ 7 1 2 @ ⋆

4. % 7 1 2 @ %

5. None of these

Q75. UKTMIH 

1. ⋆ # 7 $ % 6

2. 6 # 7 $ % δ

3. ⋆ # 7 $ % ⋆

4. ⋆ 7 # $ % ⋆

5. None of these

(Q76-77) Directions: Study the following information and answer the 

given questions: 

Sourabh walked 5m towards north from point M and reached point V. He 

took a right turn from point V and walked 7m and reached point X. He 

took a right turn from point X and walked 10 m to reach point Z. He took 

another right turn from point Z and walked 6m to reach point F. Sourabh 

took a right turn from point F and walked 5 m to reach point H. 

Q76. What was the total distance that Sourabh walked? 

1. 38m

2. 36m

3. 35m
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4. 33m

5. None of these

Q77. How far and in which direction is Point H from Point M? 

1. 2m towards East

2. 1m towards East

3. 1m towards west

4. 2m towards west

5. None of these

(Q78-80).Directions: Read the following information carefully and 

answer the questions given below. 

In a joint family of seven persons L, M, N, O, P, Q and R two are married 

couples. ‘R’ is a housewife and her husband is a lawyer. ‘N’ is the wife of 

‘M’, ‘L’ is an engineer and is the granddaughter of ‘R’, and ‘O’ is the 

father-in-law of ‘N’, a doctor, and father of ‘P’, a professor. Q’ is L’s 

brother and M’s son. 

Q78. How is P related to M? 

1. Son

2. Brother

3. Daughter

4. Data inadequate

5. None of these

Q79. How is Q related to O? 

1. Grand father

2. Uncle

3. Grandson

4. Son

5. Data inadequate
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Q80.Who is M’s father? 

1. O

2. R

3. N

4. Data inadequate

5. None of these

(Q81-82)Directions: Read the following information carefully and 

answer the questions which follow. 

1. Sarah weights more than Barton and Alan.

2. Remus weights less than only Kyle.

3. Peter weights as much as Sarah but less than Dana.

4. Alan does not weigh the minimum.

Q81. Who amongst the following is the third heaviest? 

1. Kyle

2. Remus

3. Barton

4. Dana

5. Cannot be determined

Q82. Which of the following is true? 

1. Only four people are heavier than Remus.

2. Barton weights more than Peter.

3. No one weights less than Barton.

4. Only two people are heavier than Kyle.

5. All are true.
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Q83. Directions: In this question, the relationship between different 

elements is shown in the statements. These statements are followed by 

three conclusions. Mark your answer from the given options. 

Statements: 

T < U ≤ P; R ≤ N ≤ U < H = S 

Conclusions: 

I) T < S

II) P = R

III) R < P

1. Only (I)

2. All (I) (II) and (III)

3. Both (I) and (III)

4. Only (I) and either (II) or (III)

5. Either (II) or (III)

Q84. Directions: In this question, the relationship between different 

elements is shown in the statements. These statements are followed by 

three conclusions. Mark your answer from the given options. 

Statements: 

U > Y < W; M < Y > I ≥ K = O ≥ L 

Conclusions: 

I) W > M

II) L ≤ I

III) U > O

1. Only (I)

2. Only (II)

3. Both (I) and (III)

4. Both (I) and (II)

5. All (I) (II) and (III)
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Q85. Directions: In this question, the relationship between different 

elements is shown in the statements. These statements are followed by 

three conclusions. Mark your answer from the given options. 

Statements: 

R ≤ J > M, J ≥ L = S < N, S ≥ P 

Conclusions: 

I. P ≤ J

II. R = L

III. M < N

1. Only I is true

2. Only II is true

3. Only I and III are true

4. All are true

5. None of these

(Q86-89) Directions: Answer these question based on the data given 

below. 

Each of six persons – Anagha, Kirti, Garima, Sanchit, Ronit and Aditya – has a 

different profession among Fashion Designer, Businessman, Financial Analyst, 

Engineer, CA and Doctor – not necessarily in the same order, and belongs to 

Haryana, Hyderabad, Ranchi, Jodhpur, Mumbai and Chennai, not necessarily in the 

same order. They are sitting around a circular table facing center. The following 

information is known about them. 

The Fashion Designer and the Businessman are sitting opposite each other. Anagha 

is to the immediate left of Aditya. The Doctor, from Haryana, is to the immediate left 

of the Businessman. The person from Ranchi and Mumbai are sitting opposite to 

each other and neither of them is a Fashion Designer. The Financial Analyst is to be 

immediate right of the CA. Anagha and Sanchit are sitting opposite each other and 

neither of them is from Hyderabad. Garima is from Ranchi and is to the immediate 

left of the person from Hyderabad. 
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Q86. In which of the following pairs, the persons are opposite each 

other? 

1. Ronit-Aditya

2. Anagha-Garima

3. Kirti-Ronit

4. Ronit-Garima

5. None of these

Q87. Who is to the immediate right of the Engineer? 

1. The CA

2. The Fashion Designer

3. Financial Analyst

4. The Doctor

5. None of these

Q88. If the Businessman is from Chennai, then the person to the 

immediate right of the person from Jodhpur is from? 

1. Chennai

2. Haryana

3. Mumbai

4. Hyderabad

5. None of these

Q89. Who among the following could be to the immediate right of 

Aditya? 

1. Anagha

2. Garima

3. Kirti

4. Ronit

5. Either (3) or (4)
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Q90. If Ronit is from Haryana, what is profession of Kirti? 

1. Businessman

2. Financial Analyst

3. Doctor

4. Either Financial Analyst or Doctor

5. None of these

(Q91-95)Directions: Study the following information carefully and 

answer the questions given below: 

Eight family members P, Q, R, S, T, U, V and W are sitting in a row facing north, but 

not necessarily in the same order. Four of them are males. There are three couples in 

the family. 

S is wife of W and sits adjacent to her husband. T is a male and sits second to the 

right of V, who is wife of R. U is daughter of W and is not a neighbour of V. S is 

second to left of Q, who is a female. Q is on the immediate left of V and second to the 

left of her father in law. P is brother of W, who is on the immediate right of P. T and 

U are siblings. 

Q91. How many female members are there between R and W? 

1. 1

2. 2

3. 3

4. 4

5. None of these

Q92. Who among the following sits second to left of V? 

1. Son

2. Granddaughter

3. Daughter

4. Daughter-in-law

5. None of these
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Q93. Who among the following sits third to right of S’s daughter? 

1. V

2. W

3. S

4. U

5. R

Q94. Four of the following five are similar in a certain way based on the 

given seating arrangement, hence form a group. Which among the 

following does not belong to that group? 

1. WS

2. UQ

3. VR

4. VQ

5. PW

Q95. What is the position of S with respect to her mother-in-law? 

1. Third to the left

2. Third to the right

3. Fourth to the left

4. Fourth to the right

5. None of these

(Q96-100). Directions: Read the following information carefully and 

answer the questions given below. 

Eight candidates A, G, L, N, P, Q, R and S have applied for IBPS exam for different 

banks, viz BOB, BOI, Dena Bank, UBI, OBC, Indian Bank, Corporation Bank and 

UCO Bank but not necessarily in the same order. There are five male and three 

female candidates in this group. Each male and each female has applied from his/her 

city, viz Jaipur, Delhi, Noida, Kanpur, Patna, Ranchi, Gurgaon and Ghaziabad. No 

male has applied from Ranchi and Kanpur. 
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P has applied for Indian Bank from Ghaziabad. The one who has applied for 

Corporation Bank is neither from Noida nor from Kanpur. G has applied for OBC. 

His sister L has applied for Dena Bank from Jaipur. The one who belongs to Delhi 

has applied for BOB. The one who has applied from Noida is not a female, N has 

applied for UBI and her friend has applied for BOB, Q is from Gurgaon and has not 

applied either for Corporation Bank or for UCO Bank. The one who has applied for 

UCO Bank has applied neither from Patna nor from Noida. S has applied from 

Kanpur. A does not apply from Patna. 

Q96. Which of the following groups is a group of female applicants? 

1. G, N, L

2. N, Q, S

3. L, N, S

4. P, Q, R

5. None of these

Q97. Which of the following combinations is true? 

1. A – UBI – Ranchi

2. R – Corporation Bank - Noida

3. L – UCO Bank – Jaipur

4. G – OBC – Noida

5. None of these

Q98. Who among the following has applied for BOB? 

1. A

2. S

3. N

4. Q

5. None of these

Q99. G belongs to which of the following cities? 
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1. Delhi

2. Ranchi

3. Noida

4. Gurgaon

5. None of these

Q100. Four of the five are alike in a certain way and hence form a group. 

Which is the one that does not belong to that group? 

1. P

2. R

3. A

4. L

5. Q

https://play.google.com/store/apps/details?id=com.testbook.tbapp&referrer=utm_source%3DWebsite%26utm_medium%3DDirect%26utm_content%3DHeader

